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BaHA S EH RHM &t

Mt FeE HRIEH X FRMR L E] M F Hb R7.4.1 R12.3.31 140 41 6,028
mER HREET BAXE 7 F YR E ML R R R7.4.1 R12.3.31 293 64 357
=45 aE 35 4 AHDX ZRAAEE EIHE2E ] b R4.4.1 R9.3.31 276 341 617
N AHE 1BAE R LU A B X FRAAEE [E] e 2 R b R3.10.22 R8.3.31 83 95 178
HEYH A IS AR ML E MR M Hb R4.4.1 R9.3.31 407 1,122 1,529
ST BlIjeiE CEFRER) FRMERIMELE MM R7.4.1 R12.3.31 2,253 1,549 3,713
e A - BN HEE o) IR CRER) SR HERITEZEE R7.4.1 R12.3.31 757 427 1,184
b LG R - B DR BB AR S R e 22 F R7.4.1 R12.3.31 1,221 687 1,909
)T SN CRWL - bR LX) FRtik e R # R4.4.1 R9.3.31 163 96 259
) FIIRBEE 351 Fh B b (X FRp (B e 35 [ R3.4.1 R8.3.31 729 519 1,248
FENNL ik ET BHRHR/IE TH B 30 X FRAA S R 25 [ b R6.10.1 R10.3.31 536 735 1,271
aliet A b T S (X AR A [F) e 2 [ R7.4.1 R12.3.31 336 248 518
B3 )14+ S B8 AT RZE) || 3 X ZR bk [R] s 2 F R7.4.1 R12.3.31 213 212 496
EtEh . = T LR AR R fE 2 H R3.4.1 R8.3.31 3,330 1,271 4,601
NI:) R N L BT FRAME R e ZE F b R3.4.1 R8.3.31 1,310 200 1,510

Gl
Bl REE BRI REREE R6.4.1 R11.3.31 126 262 388
TH - WISET FREE R 2 Hhig SRR E e 2E R b R4.4.1 R9.3.31 156 564 720
LR BIEHT - RIERET e HIE - FEE IR AR E e R R7.4.1 R12.3.31 1089 869 1,223
128% 183 13,418 9,302 27,749




